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T=((100+100)2*1 T1=((228+228)/2+228) 11-226/228*100=9 [1=227/228%100~| [1=228/228*100=10
MAOY «llkona Ne3 ropoza Bestoropeio» 00)*100=100 =100 *100=100 M=20*5=100 9,1=99 M=20*5=100 T1=227/228%100-99, | [1=228/228*100=10| T1=228/228*100=10 99,6= 100 0] 1=228/228*100=100
100%30% = 30| 100%30% = 30 100%40% = 40 995=99| 100*50%= 50|  99*50% = 49,5 100*30%=30 [1-20%5=100 TI= (49/49)*100=100 6=100 100%40%=| 0 100%40% = 40| 0 100%20%= 20 10030%= 30|  100%20%= 20|  100*50%= 50
100 6anon Garion Garion Gaion 6a108 Gaion Gaion 100 6an108 | Gazios 100%40%=40 Ganios__ | 100#30%=30 Gaios 100 anon 40 Gaon Garion Gavios| 100 6annon Gaios Gaios Gaios
TI=((100+100)/2*1 T1=((268+268)/2*268) T1=568/568*100=1 T1=568/568*100=10
MAOY dlixona Nel0 roposa Bestoropex» 00)*100=100 11100 *100=100 [1-20%5-100 [1-20%5-100 [1-567/568#100-99, | [I=568/568*100=10| [1=568/568*100=10 T1=567/568*100=9 0| [1=568/568*100=100
10030% = 30| 100%30% = 30 10040% = 40 10050%= 50|  100%50% =50 100*30%=30 [1-20%5-100 II= (20/20)¥100=100 8=100 100%40% =| 0 100%40%= 40| 0 100%20%= 20 00100%30%|  100%20% = 20|  100*50%= 50
100 Ganton Gaios: Gaion: Gauos| 100 Gaxros Gaion Gaios 100 6a:1.108 | Ganion 100%40%=40 Garios | 100*30%=30 Sawion 100 Ga108 40 Gaion Gaion Gaios| 100 Gamion = 30 Gamion Gaion Gaion
T=((100+100)2*1 T1=((495+482)/2*495) T1=448/495%100=9 T1=493/495+100= T1=473/495+100=95,
MAOY «llkosia Nel 1 ropoza Besioropeio» 00)*100=100 =100 *100=99,7 = 100 1=20*5=100 0,5=90 1=20*5=100 T1=487/495*100=| T1=493/495*100=97, 99,6 =100 T1=457/495*100=9 =96/ I1=486/495*100=98,
100*30% = 30| 100%30% = 30 100%40% = 40 100%50% = 50 90%50% = 45 100*30%=30 T1=20%5=100 TI= (47/50)*100=94 98,4=08 98+40%| 8=98 98*40%=|  100*20%= 20 958=96 23=0202"30%=|  96*20%= 19,2|  2=9898*50% =
100 Gaanon Gar10n Gar10n Gaios| 95 Ganaon Gaton Gaios| 98,2 = 98 Ganon| Gaios 100%40%=40 Gaios _ |94*30%=28,2 Gauios | 98,4 =98 Gamnon| = 39.2 Gawos 39,2 Gaios Gaios Gannon 27,6 Gawios Gaios 49 Gaios
TI1=((100+100)/2*1 T1=(352+349)/2#352) 11-334/352%100=9 [1-343/352#100=97,
MAOY llkora Ne200» 00)*100=100 [=100[  *100=99,6 = 100 [1-20%5-100 7,7=98 [1-347/352%100~ | T1=346/352*100=98, | [1=350/352#100=99 -335/352*100= 4=97| 11-345/352%100-98
10030% = 30| 100%30% = 30 10040% = 40 100%50% = 50 98+50% = 49 11-20%4-80 [1-20%5-100 TI= (54/54)¥100=100 98,6 =99 99*40%| 3=98 98*40%=| 4=99 99*20%= 952 =0595%30%|  97*20%= 194 98+50% = 49
100 Ganton Gaios: Gaion: Gaion Gaion Gaios 80%30%=24 Gantos | 100*40%=40 Ganton | 100%30%-30 Gauion | 98,6 =99 Gawros| = 39,6 Gaion 39,2 Gawion 19,8 Gaion = 28,5 Gaion Gaion Gaion
TI1=((100+100)/2*1 TI=((169+165)/2*169) T1=163/169%100=9 T1=166/169%100=
MAJIOY JIC Ned 00)*100=100 11100 *100=98,8 = 99 T1-20%5-100 64=96 [1-20%5-100 T1=168/169#100-99, | [1=169/169%100=10| [1=168/169*100=99 T1=163/169%100=9 98,2 = 98| 11=165/169*100=97,
996=100(  100%30% = 30| 100%30%=30|  99*40%= 396 100%50% = 50 96+50% = 48 100*30%=30 [1-20%5-100 II= (12/12)¥100=100 4=99 99%40%=| 0 100%40%= 40| 4=99 99*20%= 64=9696*30%=|  98*20%= 106|6=9898*50% = 49
Gawion. Gaios: Gaion: Gaio Gaion Gaios Gaion 100%40%=40 Gaion | 100*30%=30 Gazion | 99,4 = 99 Gaon 39,6 Gawion Gasion 19,8 Gaion 28,8 Gawion Gaion Gaion
MAJIOY JIC Ne7 ropora Beroropeio»
T1=((100+100)/2%1 [1=((119+119)2%119) [1=117/119%100=9 [1=119/119%100=10
00)*100=100 11=100 *100=100 11=20*5=100 83=98 11=20#5=100 [1=119/119%100=10| [I=119/119¥100=10| [1=119/119%100=1 11=119/119%100=1 0| 11=119/119*100=100
100%30% = 30| 100*30% = 30 100%40% = 40 100*50% = 50 98*50% = 49 100%30%=30 11=20*5=100 1= (5/5)*100=100 0 100%40% = 40| 0 100%40%= 40| 0 100*20%= 20 00100430% = 30|  100%20%= 20|  100%60%= 50
100 6anton Gaion: Gaion: Gauos| 99 Gatos 6o Gaios, 100 6a108 | Ganion 100%40%=40 Garios | 100*30%=30 Sauion 100 Ga0s Gasion Garton Gaon| 100 Gannon Gannon Gannon Gannon
MAJIOY IC Ne§
TI=((100+100)/2*1 T1=((105+105)12%105) I1=105/105*100=1 11=105/105*100=10
00)*100=100 TI=100 *100=100 T1=20%5=100 00| T1=20%5=100 T1=105/105%100=10| T1=105/105*100=10| [=105/105*100=10 11=105/105*100=1 0| [1=105/105*100=100
100*30% = 30| 100%30% = 30 10040% = 40 10050%= 50|  100*50% =50 100*30%=30 [1=20%5=100 TI= (8/8)*100=100 0 100%40% = 40| 0 100*40%= 40| 0 100%20%= 20 00100%30% = 30|  100%20%= 20|  100*50%= 50
100 Gaanon 6108 Gaios: Gauos| 100 Gaaon Gaion Gaios, 100 6an108 | Gazion 100%40%=40 Garios | 100*30%=30 Gazton 100 Ganon Gaios Gaios Gauios| 100 Gannon Gaion Gaion Gaion
MAZIOY JIC Nel0
T1=((100+100)/2%1 T1=((138+138)2%138) 11=138/138*100=1 11=138/138#100=10
00)*100=100 11=100 *100=100 11=20*5=100 [1=138/138*100=10| [1=137/138#100=99, | [1=138/138*100=10 11=138/138*100=1 0| [1=138/138*100=100
100%30% = 30| 100*30% = 30 100%40% = 40 100*50%= 50|  100*50% =50 11=20%4=80 11=20*5=100 1= (38/38)*100=100 0100%40% = 40 99 99%40%=( 0 100%20%= 20 00100430% = 30|  100%20%= 20|  100%60%= 50
100 6anton Gaion: Gaion: Gauos| 100 Gaos 6o Gaion, 94 Ganna | 80*30%=24 Gaztos | 100%40%=40 Gaion | 100*30%=30 Gazion | 99,6 = 100 Gaton Garton 39,6 Gaton Gaon| 100 Gannon Gannon Gannon Gannon
MAZOY AIC el TI=((100+100)/2*1 I1=((212+212)12%212) [1=210/212*100=9 M1=212/212*100=10
00)*100=100 0 *100=100 T1=20%5=100 91=99 T1=20%5=100 [1=212/212%100=10| T1=212/212*100=10| [I=212/212%100=10 M1=211/212%100=9 0| T1=211/212#100=99,
100%30% = 30 10040% = 40 995=99| 100*50%= 50|  99*50% = 49,5 100*30%=30 [1=20%5=100 TI= (9/9)*100=100 0 100%40% = 40| 0 100*40%= 40| 0 100%20%= 20 992=99| 95=9999*30%=|  100%20%= 20|  5=99 99*50% =
100 Ganton Gaios: Gaios: Gaion Ganaon Gaio Gaios, 100 6an108 | Gaxion 100%40%=40 Garios | 100*30%=30 Gazton 100 Ganon Gaios Gaios Gaion Gannon 29,7 Gaion Gaion 49,5 Gaion
MAJIOY JIC Nel2 TT=((100+100)/2%1 TI=((185+185)/2%185) T1=180/185%100=9 T1=183/185%100=98,
00)*100=100 T1=100 *100=100 [1=20%5=100 73=97 T1=184/185%100=99, | TI=185/185%100=10| [1=185/185*100=10 I1=185/185*100=1 9| I1=185/185%100=100
100*30% = 30| 100%30% = 30 10040% = 40 985=98 100"50%= 50|  97*50% = 48,5 T1=20%4=80 [1=20%5=100 TI= (8/8)*100=100 5209 99%40% =| 0 10040%= 40| 0 10020%= 20|  99,8=100|00100%30%= 30| 99*20% = 19,8  100*50%= 50
100 Ganton Gaios: Gaios: Gaion Ganaon Gaios Gaios 94 Ganna| 80*30%=24 Gaxton| 100%40%=40 Gaion | 100*30%=30 Gazton 100 Ganion 39,6 Gawion Gaios Gaion Ganaon Gaion Gaion Gaion
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